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Candidates are required to give their answers in their own
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Group-A
Answer any five from the following questions :
1. State the concept of social exclusion.
2. What do you mean by impairment?
3. Define the concept of Cerebral Palsy.
4. What is meant by inclusive education?
5. What is meant by multi cultural society?

6. Define the term ‘gender’.

2x5=10
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7.  What is autism?
8. State the concept of inclusive society.
Group-B
Answer any four from the following questions : 5x4=20

9. What are the general causes of social exclusion?
10. State the desired changes in culture for building an inclusive school.
11. State the general causes of disabilities.
12. Give the concept of social groups.
13.  Write a short note on intellectual disability.

14. What are the utilities of inclusive education?
Group-C

Answer any three from the following questions : 10x3=30

15. Explain the role of informal agencies in building an inclusive society with proper
examples.

16. Describe the role of school in creating a barrier free environment.
17. Describe the role of education for social inclusion in present age.
18. Describe the necessary elements for creating an inclusive society.

19. Critically analyse the present system, structure and practice in our society for
building an inclusive school. 4+3+3
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